An Introduction to
Heredity




Ihe passing of physical
chiaracteristics firom
pParents te ehisprng.

The stuady: off heredity




Trait:
Each different form of a
characteristic.

Examples: ol Tiralts:
HAIR COLOR
STEM HEIGHTT OF PLANTS
EYE COLOR
FUR COLOR
FLOWER PETAL COLOR




Tirait: Eur Color
What color fur do you think the parents
of this kitten litter have?




Mother Cat Father Cat




What do their parents have for fur color?




FATHER CAT

=
<<
@)
e
LL
s
—
O
=




ONE MORE...




MOTHER CAT FATHER CAT







DAD CAT
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What are we going to learn about in the heredity unit?

IHOW, ChIrOMESEMES, CoRtalin GERES;, WhICH contrel eur
tralts.

Calises of genetic diserders




Gregor Vendellwas an Austrian
priest anal scientist — efiten
called the “fiathelr ol GENELics”

SPENR: tiMe BRSEVIRG PIants -
MEendelwoenedenread Wiy,
diffierent pea plantsrhac
diffierent: charactenstics
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Flower color
Flewer
posItion
Seed color
Seed shiape

Pea pod
shape

Pod color
Stem herght
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FLOWER COLOR Purple White

FLOWER POSITION Axial Terminal

)

SEED COLOR Yellow Green

\

SEED SHAPE Round Wrinkled
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POD SHAPE Inflated Constricted
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POD COLOR Yellow

gf«

STEM LENGTH

DAdcdaon Waskey Longman, lnc




Sex cells 1n flowers
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. produces female sex cells (eggs)

Stamens: produce pollen, which
contains the male sex cells (sperm)

When pollen reaches the pistil,
occurs, and when the sex
cells join, occurs.




PuUrebred: efifspring
where all previous
gEREratioNSs have the
same tralt. Example:
a purenredrshoert plant
came! firem vethl shert
parent plants.

EIrst, he crossed
purebred purple wiith
a purebred white

Result of F1
Generation: all planits
had purple flewers
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Vocabulary Words:

P Generation = parental generation

First Filial Generation (F1) = first
generation of offspring — “filial”
means daughter and son




Second experiment:

whilte flewers

m See other experiments
on helght: (page 78)




s [ater Mendel concluded:
1) Semething/ i an erganism controls a trait
2) Both parents contribute te the trait

3) e trait oececurs by getting semething from
the female parent and semething firem the
male parent, se the factor that makes a traii:
OCCUKS IRl a pail.

What did Mendel erginally/ discever,
pPut didn‘t knew — It was discovered
later by scientists Whe continued IS
WOKK?




Human chromeseme pairs




— Eachi chromoesome contains genes.
— lhe genes are responsible for giving
LS, GUIr traits

Map of chromosome X
ichthyosis, X linked

hypophosphatemia
ocular albinism

Duchenne muscular dystrophy

——— retinitis pigmentosa

Lesch-Nyhan syndrome
hemophilia B

fragile X syndrome

hemophilia A

color blindness (several forms)
spastic paraplegia, X linked




DOMINANT AND RECESSIVE ALLELES FOR EYE COLOR

we' = allele for blue eyes (recessive)

= allele for brown eyes (dominant)

Individual A: Individual B: Individual C:

heterozygous homozygous homozygous
recessive



